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Kit made a boat, She made the boai
of tin. The nose of the boat was very
thin. Kit said, “1 think that this boat is
ready [or me 1o ke on the luke.” So
Kit weni (o the lake with her boat,

Her boat was a lot of fun. [t went
fast, But when she went o dock it at the
hoat ramp, she did not slow it down,
And the thin nose of the boat cut a hole
in the hoat ramp,

The man who sold gas at the boat
ramp got mad. He said, “That boat cuis
like a blade, Do not take the boat on this
lake any more.”

PART Nl

Can she see il it is dim?

And it can fit in & hand.

MNow the hat is on her pet pig.

I sent her a clock last week,

How will we get dinner on this ship?

The swimming class went well,

When they met, he felt happy.

Then she told me how happy she was.

The tracks led 1o a shack next to the hill.

They said, “We will plant the last of the
seends.”

What will vou get when yvou go (o the
slore?

You left lots of things on her desk.
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PART IV

PART 1l

Hurn was sleeping when it
happened, Hurn didn’t hear the big cat
sneak into the cave that Hurn called his
home. Suddenly Hurn was awake,
Something told him, “Beware!™ His
evies lurned (o the darkness near the
mouth of the cave, Hum felt the fur on
the back of his neck stand up. His nose,
like noses of all wolves, was very keen.
It made him very happy when it smelled
something good, But now it smelled
something that made him afraid,

Hurn was five months old. He had
never seen a big cal. He had seen clover
and ferns and grass, He had even eaten
raubbits. Hurn's mother had come back
with them after she had been out
hunting, She had always come back,
And Hurn had always been glad (o see
her. But now she was not in the cave,
Hurn's sister, Surl, was the only happy
smell that reached Hurn's nose.

Duwring a good year, a large redwood
will produce over six kilograms of seed,
which 1s nearly a million and a half
seeds. And the vear that our redwood
seed fluttersd from the cone was an
exceptionally good year. The parent tree
produced over eight Kilograms of seed
that year, enough seed o start a forest
that would be ten square kilometers in
size. However, only a few redwood
seeds survived. In fact, only three of the
seeds from the parent tree survived their
first year, and only one of them lived
beyond the first vear.

Obviously, our seed was lucky. Tt
was a forfunate seed because it was
fertile, If a seed is not fertile, it cannot
grow, and aboul nine out of every ten
redwood seeds are not fertile. Our seed
also had the advantage of landing in a
place where it could survive, If it had
fullen on a part of the forest floor
coverad with thick, heavy litter, it
probably would not have grown. If it
had Nuttered o a spot that became (oo
dry during the summer, it would have
died during the first year. Our seed
landed in a spot where moles had been
digazing.




